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Instructions for the candidate

Answer all the questions given below. Tick (v') the correct option in the ANSWER SHEET. The tick must be very
clear— if it is smudgy or not clear, no marks will be awarded. Each correct answer carries 2 marks. For every wrong
answer 0.5 mark will be deducted.

1.

In which level(s) of taxonomy characterization and classification of animal is done?
a) Alpha taxonomy b) Beta taxonomy c) Gamma taxonomy d) both a) and b)

Which of the following immunoglobulin (Ig) (s) can provide natural passive immunity?

a) IgA b) 1gA, 1gG c) IgA, 1gG, IgM d) IgA, IgG, IgM, IgD
Which of the following white blood cells increases during allergy and asthma?

a) Lymphocytes and Monocytes b) Neutrophils and Monocytes

¢) Monocytes and Basophils d) Basophils and Eosinophils

Match the columns

Column A Column B
A. Echinodermata i) Radial Symmetry
B. Ctenophora i) Biradial Symmetry
C. Cnidaria iii) Pentaradial Symmetry
D. Annelida iv) Bilateral Symmetry

a) A-iii, B-ii, C-i, D-iv
b) A-iv, B-ii, C-i, D-iii
c) A-iii, B-i, C-ii, D-iv
d) A-iii, B-iv, C-i, D-ii

Match the columns
Column A Column B
A. Echinodermata i) Canal system
B. Porifera i) Mantle
C. Mollusca iii) Flame cell
D. Platyhelminthes iv) Water vascular system

a) A-iii, B-ii, C-i, D-iv
b) A-iv, B-ii, C-i, D-iii
c) A-iii, B-i, C-ii, D-iv
d) A-iv, B-i, C-ii, D-iii
Total number of Biodiversity Hotspots in world and in India are

a) 20 and 4 respectively b) 25 and 4 respectively
c) 30 and 4 respectively d) 35 and 4 respectively

(1)



7. ‘Project Tiger’ was launched in India on
a) 1% April, 1973 b) 1* January, 1973 ¢)1* May, 1973 d) 1% September, 1973

8. ‘Tautonym’ means
a) Two different species look alike
b) Genus and Species names are same
c) Two different species share same habitat
d) Two different species have been given the same name by mistake

9. Vaccination is
a) Natural active immunization b) Natural passive immunization
c) Artificial active immunization d) Artificial passive immunization

10. Which organelle is responsible for detoxification by metabolism of drugs and toxins in the cell?
a) Golgi apparatus b) Lysosome
c) Peroxisome d) Smooth endoplasmic reticulum

11. Which of the following is NOT a type of cytoskeletal protein?
a) Actin b) Tubulin c) Collagen d) Intermediate filament

12. Which part of the brain is primarily responsible for regulating the body's internal temperature?
a) Hypothalamus b) Cerebellum
¢) Medulla oblongata d) Thalamus

13. Which of the following statements accurately describes the function of the lymphatic system?
a) It produces and stores hormones that regulate metabolism.

b) It transports oxygen from the lungs to the body cells.

c) It helps maintain fluid balance in the body and aids in immune defense.

d) It regulates blood pressure and heart rate.

14. Which of the following is characteristic of external fertilization?

a) Fusion of gametes occurs inside the female reproductive tract.

b) Large amount of energy are invested in parental care.

c) Offsprings are more vulnerable to predation and environmental factors.
d) Offsprings exhibit higher genetic variability.

15. What is the role of gene flow in maintaining genetic diversity within a population?
a) It reduces genetic variation by introducing new alleles from neighboring populations.
b) It increases genetic variation by preventing the loss of alleles through genetic drift.
¢) It has no effect on genetic diversity within a population.

d) It decreases genetic diversity by promoting inbreeding.

16. What is the main reason of antibiotic resistance in bacteria?
a) Overuse and misuse of antibiotics

b) Lack of access to healthcare

¢) Genetic modification of bacteria

d) Exposure to sunlight
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17. What is the primary goal of the Human Genome Project?

a) To identify and sequence all the genes in the human genome.

b) To develop gene editing technologies for therapeutic applications.
¢) To study the interactions between genes and the environment.

d) To create genetically modified organisms for agricultural purposes.

18. Name selectable markers in pBR322?
a) Pencillin/glycopeptides b) Macrolides/amoxicillin
c¢) Oxacillin/Nafcillin d) Ampicillin/ tetracycline

19. Major role of magnesium in DNA multiplication is -
a) It induces replication fork b) It enhances sticky end
c) It increases the function of DNA polymerase d) It increases the action of nucleotide

20. Function of Vir A/G genes in Agrobacterium tumefaciens is -
a) It activates the other Vir genes on the Ti plasmid

b) It helps in binding the Agrobacterium to the plant root

c) It helps in integration of VirF gene

d) It cuts the plant DNA

21. Which of the following represented by Darwinian fitness?
a) High k value b) Low k value c) High r value d) Low r value

22. Match the following pairs-

A. Humulin 1. Bt toxin

B. Prototoxin 2. Dicer

C. RNAI 3. Genetically modified insulin given to human
D. ADA 4. Enzyme replacement

a) A-1, B-2, C-3, D-4 b) A-3, B-1, C-2, D-4

c) A- 2,B-3,C-4, D-1 d) A-3, B-1, C-4, D-2

23. Which part of tobacco plant is infected by Meloidogyne incognita?
a) Stem b) Leaf c) Root d) Flower

24. Gross Primary Productivity (GPP) implies that -

a. Rate of production of oxygen from plant

b. Rate of production of organic matter during photosynthesis
c. Rate of respiration losses

d. Rate of decomposition

25. The Pyramid of Biomass in sea is generally inverted because -
a. Number of plant increases

b. The biomass of insect increases than zooplankton

c. The biomass of fishes exceeds that of phytoplankton

d. Number of zooplankton exceeds far
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1. NG T %9 A Baaferce 2iai e @ teaRken™ a1 2312

a) TRl GICH b) 6! Bricanefa c) 9t Bricaef d) a) @ b) TewE i
2. frsferfare e BRSraitanfliem (1g) wfer el ffga Smiamret emiw w2
a) IgA b) IgA, IgG c) IgA, 1gG, IgM d) IgA, IgG, IgM, IgD
3. et (o T Sespleplefer Syiefe’ @ Sy e Jia 72
a) TG € TG b) FEGIRFT € TS
C) TTAPAIZE € TACAIRET d) TefREeT @ Beaicafzre
4. ffeiie 7 7o reme ¢
A A A B

A, GRS (i) =9 e

B. fotaiczei (i) faerd afeom

C. fauifaat (iii)  ozeeE dfoow

D. wpifefere (iv) Ta=dTT elfoars
a) A(iii), B~(ii), C-(i), D-(iv) b) A-(iv), B-(ii), C-(i), D-(iii)
¢) A-(iii), B-(i), C-(ii), D-(iv) d) A(iii), B~(iv), C-(i), D-(ii)
5. fersferiae sifx vfo e ¢

A A A B

A GFEACIG! (i) «fereog

B. lfzcwa (i) soCo=

C. Tl (iii) I

D. snifbczetsmees (iv) SePiaes oF
a) A-(iii), B-(ii), C~(i), D-(iv) b) A-(iv), B(ii), C-(i), D~(iii)
¢) A(iii), B-(i), C-(ii), D-(iv) d) A=(iv), B-(i), C-(ii), D-(iii)
6. 5JfAISITT I ©IATS SRFe GIRCAMBI@R 267IC5F TG R AT
a)20s8 4 b) 25¢ 4 c)30e4 d)35¢4

7. SRS TAEE DR w2 2R —
a) >eT @feret s5qw b) S& SIS S50 C) ST TH 599 d) o7 TTCHRA 5599
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8. ‘TLoIf 3+Ce TR

a) 40 fon eeifs «Peas AT b) siel @ eeIfon ws Hio @2

c) 7 fon oeife @58 AT ©iol FC d) gerRmws 9t fox eerfion % @58 el TR0
9. DiFrael To —

a) AP AF STl b) aigfoss M ST i@ro!

C) FGx AlF STl d) et gz emiesrsl

10. THICIH T B0 KT @3 Gk @3 oA Sy Wil 2

EVRGRIE: b) =R

¢) e d) Pjel retaet eifer

11. Se e 0y T (P % (cytoskeleton) TG w1z 2

a) SRR b) TSRS

C) TIENTS d) 251 ISCRG RFetsrs

12, SRR SETes T Sl >0 SIS wroial w2 363 2

a) AZTAIEAI b) TAfHTEI™ C) TGS SRARANGE d) e

13. ¥& ISR W0 T TNLOII 7B Al w1 o5E I I 2
a) RIS g N TLAW 8 HER FACO AR A |

b) SRS AT S IR TP XA S T |

C) *ISIH AT SIS IS ATS =R T ATSTHI @ ARG I |

d) TSHI7l IR T Q] gl I |

14. fNfTeSler St TR0 AR (e 2

a) WICICHR fSleT Gl Sreero s ) 23 |

b) @G J2& TR0*F *IfE TS 2 oo a Rl =RTFa THATTHCE GR AT GO |

C) T IR Iy RIS [ FIFCe! * 195 Sl 2/ SNFs @ delfe 207 AT |
d) T8I 7%fS Y7 T 2/ f&ore ARG lerel |

15. S{%{CeTICeR 3Ce fereare Taibe <@y e e eaies g 6

a) «ft f&msrs Tafba S T T e SIfeTet 2MsT o1 #[TeTI= TS ST |

b) «fb TS G0 Tfele SHfTCeTa SR Al I fEmare (e Jia I |
¢) b SCalfER ey femiere TRbtas o (It 2R (e o |

d) 3 3 @ e femare tafoay s |

16. TWIFHRAF SHFCACNS eAfST=1y Freid 2L« el 2

a) SHFSAAITE Sfeie Qi Sy <2 | b) Frg AR =53 |
C) TIFCHRE fEraare wAf7ade | d) S 2 A |

17. “f2Siw e ceiters” @ 5747, oy et -

a) IR TSI 7 femafer Aaresael Gag Oiwme @ fS4fae 1 |
b) fere «feib: Thataele 2k O bfeasEre Atel 1 |

¢) fafen fom @ 2R Wty SefE 7o it Sl |

d) fEmere e sTefere GI7 Tod! F(F FRICS 2 41 |
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18. pBR322 T© SR%® Piarioae WEPA(@fer) 26

a) TP/ 2iEricat=ioRe

¢) SRife/eRie™
19. fS. @=. @ -3 72T AT ANCARTICIE 32 B Fo=pl 2T

a) T THCF Smfore T4t

¢) f©. ¥v. @ sfermicates TR JiE w1

b) STt/ ST
d) Sosfeififer/og! Az

b) 7561 2l (sticky end) T 2i7ffe w41
d) fFeipetize va Rl Jia i

20. Agrobacterium tumefaciens -4 &#if¥e Vir A/G f&taa et &
a) Ti 2PoTes S SofEge Seiey Vir & @i e 31|
b) Agrobacterium T SlITRS (T AN Y& FHCO AR 41 |

¢) VirF f&=(ss 7 F40o AR 41 |

d) @30 S SIS FIoTe AR 1 |

o

21. T Foca

a) T k @3 ST
b) = k @3 51w
C) T I @ S
d) o/ r @3

22. fesferre it fb taets ¢

FIRITSR W0 A -

A A A B
A TefeRm (i) B+5RBm
B. THNGHRW (i) wiz"
C. RNAI (iii)  femsre ~AfFafEe 2epyfer
AE RSN 2]
D. ADA (iv) S<ome dfegem

a) A-(i), B-(ii), C~(iii), D-(iv)
¢) A-(ii), B~(iii), C-(iv), D-(i)

b) A-(iii), B-(i), C-(ii), D-(iv)
d) A-(iii), B-(i), C-(iv), D-(ii)

23. S 91C=d = s=*i Meloidogyne incognita it SIieF® 231

a) I

b) st

24. Gross Primary Productivity (GPP) 3510 TR —
a) 9% TATP ST SRS SRAMCA 2
C) WL SHCIS 2

25. Im Greg9e (PRIRG THital (inverted) 2eF 6 —
a) Bfera Mt 3
C) TFIRCHIZIIEOC b0 2R GRS Iia

C) I+ d) Tt

b) AT T2H (& THAMIT SAMCT 2N
d) Rrec= 2=

b) GEIEGCAR LA 2ISod Gied I
d) SEIEGCR e Sfe e Jia e
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